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MASTER OF LIBRARY AND INFORMATION 

C 
	 SCIENCE 

Term-End Examination 

June, 2018 

MLII-102 : INFORMATION PROCESSING AND 
RETRIEVAL 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt all questions. All questions carry equal marks. 

Illustrate your answers with suitable examples and 
diagrams, wherever necessary. Write relevant question 

number before writing the answer. 

1.1 Explain the meaning of the terms 'Derived system 
indexing' and 'Assigned system indexing'. What 
is their difference ? How far intellectual effort is 
required for indexing by these two systems ? 

OR 
1.2 Explain the importance of controlled vocabulary 

in indexing. Compare controlled and natural 
language indexing. 

2.1 Describe the chain indexing process with an 
example. 

OR 
2.2 Discuss the concept of citation indexing. How 

does it work ? Describe its advantages and 
disadvantages. 
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3.1 What do you understand by semantic web ? 
Describe the key technologies involved in it. 

OR 
3.2 Explain FRBR model of bibliographic description. 

4.1 What are the objectives of ISAR systems ? Explain 
briefly its different types. 

OR 
4.2 Identify the general search and special search 

features of search engines. Explain and illustrate 
with examples. 

5.0 Write notes on any three of the following (in about 
300 words each) : 
(a) Functions of thesaurus 
(b) Passive search engines 
(c) Recall end precision 
(d) MARC record structure 
(e) Website hosting 
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